[BO401#51EEIS ] 1028 FE/MERIBE (BF18/H17H)

T 5% = gzl iR P 3T S
1 1 FFRCIR 5 1 9
1 2 RN 5 1 11
1 3 HRE 5 2 15
1 4 Eyic 5 6 1
1 5 LERIE 5 6 9
1 6 TRULIE 5 8 5
1 7 BT 5 8 10
1 8 fRAa1g 5 9 33
1 9 ZIERAR 5 10 5
1 10 EdTan 5 14 6
1 11 bS] 5 14 8
1 12 2R 5 15 2
1 13 =133 5 15 30
1 14 BR75h S 5 16 20
1 15 b5t 5 20 32
1 16 HaE X 3 26
1 17 TS X 4 25
1 18 SE X 4 28
1 19 B FZ X 5 22
1 20 Pk 74 6 29
1 21 EH1R X 9 25
1 22 SR X 9 32
1 23 R s 1A % 10 13
1 24 M eF Y 10 15
1 25 B 4 10 25
1 26 =IHE %4 11 29
1 27 S EZ % 12 25
1 28 J13BI8 74 15 10
1 29 = 5l 4 15 28
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[BO401#51EEIH ] 1028 FE/MERIBE (528 /H 17 H)

T 5% gzl iR P 3T S
2 1 i B E 5 2 3
2 2 RE A 5 2 8
2 3 EEX]! 5 2 13
2 4 E2 5 4 8
2 5 BAE A 5 6 19
2 6 B=El 5 7 3
2 7 BEXGE 5 8 7
2 8 - Ey==) 5 8 9
2 9 B 5 9 30
2 10 KRI&RE 5 14 1
2 11 BR = 55 5 16 2
2 12 sREIS 5 17 6
2 13 2B 5 20 2
2 14 RIRE 5 20 3
2 15 ST AAET 5 20 26
2 16 =MRE X 1 25
2 17 KES X 5 17
2 18 2P IR X 5 21
2 19 5 RE X 6 30
2 20 RS 74 8 16
2 21 TRE X 8 29
2 22 EXR&GE % 10 29
2 23 BR 4% 78 X 11 34
2 24 B/vE X 12 10
2 25 T X 13 32
2 26 B 2% %4 14 16
2 27 REZ % 15 23
2 28 =PE 74 16 14
2 29 sREEZ X 16 26
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[BO401#51EEIS ] 1028 FE/MERIBE (B3B8 /K17 H)

T 5% = gzl iR P 3T S
3 1 TS 5 1 3
3 2 #hE 5 1 14
3 3 R ish 5 3 13
3 4 ZFBRE 5 3 17
3 5 iE R 5 4 5
3 6 BRAUSF 5 5 35
3 7 e 5 9 3
3 8 A F 5 10 20
3 9 BEH 5 10 32
3 10 LISy 5 11 13
3 11 B E 2 5 12 18
3 12 PRIZE 5 15 5
3 13 £ 5 5 15 7
3 14 BEX 5 16 17
3 15 RIZE 5 17 29
3 16 =218 X 1 20
3 17 B4 % 1 27
3 18 METIE X 2 19
3 19 R P % 2 24
3 20 1540 74 2 25
3 21 = 50H X 3 32
3 22 £a8 X 6 25
3 23 ERIEIY X 6 27
3 24 BR1EFR X 7 20
3 25 = X 8 32
3 26 =R X 9 13
3 27 REX X 9 19
3 28 HEEFP 74 10 24
3 29 FRIME 4 13 10
3 30 BRI 74 17 27
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[BO401#51EEIS ] 1028 FE/MERIBE (48 /H 17 5)

4wt 5l b A BT b PS5 i
4 1 BETF == 4 15
4 2 1A 5 6 4
4 3 g 5 6 14
4 4 BERE == 7 10
4 5 5= Nl = 8 12
4 6 MR 5 9 8
4 7 KR 5 10 7
4 8 MEF == 10 33
4 9 =T == 11 11
4 10 FE27) = 13 1
4 11 BEREZ= == 13 20
4 12 SR BRA == 14 3
4 13 R == 17 16
4 14 EEX = 17 33
4 15 S = 20 9
4 16 R E g8 1 24
4 17 e Z 1 28
4 18 ERIEE %7 2 22
4 19 TR % 4 23
4 20 Z2H Z 5 23
4 21 FIXRZ 8 6 21
4 22 =FH g8 6 23
4 23 NEE=SE] 7 6 33
4 24 MBS g8 7 23
4 25 EHE & 12 12
4 26 =75 §o8 12 31
4 27 GRS & 13 29
4 28 T EE go8 13 30
4 29 N 7 13 37
4 30 ERE= 7 16 29
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T gzl iR P 3T S
5 1 A= 5 2 2
5 2 PR IEE 5 2 6
5 3 EE=3% 5 3 7
5 4 G 5 4 6
5 5 B 5 6 10
5 6 RXE 5 6 13
5 7 E Sl 5 6 15
5 8 REE 5 10 2
5 9 MRIE B 55 12 1
5 10 SEERR 5 15 17
5 11 M58 5 16 5
5 12 fR=Z 42 5 17 24
5 13 R 5 17 31
5 14 =B 5 20 8
5 15 FFEREA 5 20 15
5 16 RHEE X 2 26
5 17 =29 X 3 22
5 18 SBIFIE X 3 23
5 19 LIS X 3 27
5 20 BB/ 74 3 28
5 21 w"FEE X 5 28
5 22 =R X 7 19
5 23 BmEE X 9 21
5 24 RER Y 10 12
5 25 B 4 11 17
5 26 =EY %4 11 23
5 27 =X+ % 12 11
5 28 ZHIIE 74 13 19
5 29 sREEM 4 16 16
5 30 (ELETRES 74 17 19
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[BO401#51EEIS ] 1028 FE/MERIBE (68 /K17 H)

1RIT i 2 ezl bR PR3t Hiez 7 51
6 1 §§EEJZ¥E =S 1 6
6 2 R EE 1 13
6 3 BER =S 2 9
6 4 = KI5 EE 3 35
6 5 & = 4 7
6 6 SRFE = 5 4
6 7 EtE = 5 15
6 8 FE IR S 7 9
6 9 =IFE EE 10 18
6 10 ZiE5# 2 10 19
6 11 ;ﬁﬁ EE 11 7
6 12 20T 2 13 3
6 13 RS A = 16 3
6 14 LB 2 17 2
6 15 SR A 2 17 5
6 16 MRS 1E 58 2 23
6 17 SSEH 58 8 18
6 18 FryifE 58 9 17
6 19 S 58 9 22
6 20 FIEZS 58 9 23
6 21 EH o8 9 24
6 22 Z=2MR 58 9 31
6 23 SREEE 58 10 16
6 24 =ESa=1 7 13 16
6 25 BIER 8 14 17
6 26 BAER g 14 30
6 27 DEDARZS Z 15 11
6 28 2N %5 kg 16 13
6 29 ER e o4 20 11
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[BO40151EEIS ] 1028 FE/MERIBE (8B /H 17 H)

T 5% gzl iR P 3T S
8 1 ENER = 5 1 7
8 2 SEY= 5 2 11
8 3 BRBF 5 4 17
8 4 = 5 5 9
8 5 AREES 5 6 3
8 6 BMEE 5 6 6
8 7 7#H 55 7 5
8 8 TRERRS 5 11 31
8 9 TRIET 5 12 8
8 10 FHE 5 13 7
8 11 TER 5 14 21
8 12 = 5 20 4
8 13 EZEN 5 20 23
8 14 =154 74 2 27
8 15 W31 X 3 19
8 16 LAl X 4 19
8 17 X X 5 20
8 18 BRATIA X 6 24
8 19 FF RS % 8 23
8 20 =EY % 10 28
8 21 BTE X 11 33
8 22 Vil X 12 27
8 23 izpv % 15 32
8 24 a1 BRI Y 16 15
8 25 7 T 45 4 17 8
8 26 RS %4 17 18
8 27 REA 4 20 20
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[BO401#51EEIS ] 1028 FE/MERIBE (9B /H 17 H)

T 5% = gzl iR P 3T S
9 1 REE 5 1 2

9 2 BRF 5 3 33
9 3 R 5 5 3

9 4 2B 5 5 5

9 5 fErﬁ/u 5 5 7

9 6 R E2 5 5 13
9 7 Emfir 5 7 11
9 8 ERE 5 8 13
9 9 =M 5 9 10
9 10 ZEM 5 9 34
9 11 i 5 10 8

9 12 N 5 11 3

9 13 s&ShGE 5 12 19
9 14 T g 5 12 23
9 15 IR RE 5 15 15

S 16 ESTES % 4 18
9 17 REFRYT % 4 34
S 18 =3 5k X 5 25
9 19 MRE % 6 28
S 20 ,E-:ilﬁiﬁu 74 7 31
9 21 BR3P 2N 4 8 17
9 22 BRAKCm % 8 25
9 23 THaX X 10 31
9 24 2= Y 13 11
9 25 [=1ES N 4 14 14
9 26 =B %4 14 19
9 27 ZAE % 14 33

9 28 m 37 E 74 16 30
9 29 i E 4 16 31
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[BO401#51EEIS ] 1028 FE/HERIBER  (BF108/H 17 H)

ezl bR PR3t Hiez 7 51
10 1 &S =S 1 32
10 2 &R EE 2 12
10 3 EalpoR = =S 3 14
10 4 anIE';ﬁ?FL\ = 3 16
10 5 A 1EN EE 6 7
10 6 ELE EE 7 8
10 7 B #x EE 8 8
10 8 TER S 9 29
10 9 HEB EE 10 9
10 10 SR 7R IE 2 10 34
10 11 PRZE 4w EE 13 6
10 12 1157394 2 13 35
10 13 o] 2 i EE 14 22
10 14 SR X F] 2 17 1
10 15 TR = 17 14
10 16 Az 58 1 22
10 17 B 58 2 30
10 18 M= 58 2 31
10 19 S X 58 2 35
10 20 =B 58 3 29
10 21 LY T 58 4 30
10 22 $EInE 58 5 18
10 23 AERETT 58 5 29
10 24 sREEH 5 7 28
10 25 PR HE 48 54 13 31
10 26 & Al g 14 29
10 27 T Z 14 31
10 28 2 kg 15 36
10 29 AETESE o4 16 22
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[BO401i518E ] 1028 FEMERIBRER (F11B8/H17 H)

gzl bR 3 S

11 1 BRIR 5 3 5
11 2 BEF 5 4 3
11 3 = B 5 5 16
11 4 B 5 7 16
11 5 S35 5 7 18
11 6 BRIRZN 5 10 1
11 7 2IRE 55 11 4
11 8 A5 5 11 28
11 9 (RIS 5 12 4
11 10 HIRIE 5 14 35
11 11 2K 5 15 6
11 12 REL 5 15 19
11 13 BRI 9 5 16 7
11 14 208 5 20 10
11 15 ESE AT 5 20 19
11 16 HAREIE % 2 21
11 17 FKE X 4 27
11 18 RF I X 5 33
11 19 MO FR X 6 31
11 20 BRIABE 74 7 24
11 21 Zpk X 7 27
11 22 MEZ X 9 16
11 23 ZE:: X 9 27
11 24 FESE Y 10 23
11 25 EAK Y] 4 12 38
11 26 REM %4 15 27
11 27 AT 7T % 15 33
11 28 BRARIS 74 16 11
11 29 SNV 4 16 23
11 30 R0 74 20 17
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3t 5 B BRI ERRSHE S

12 1 RFEEF 5 2 14
12 2 2L aV:: 5 2 18
12 3 A E 5 3 6
12 4 Gil) 5 3 8
12 5 RGN 5 7 7
12 6 B 5 8 6
12 7 5 = 5 9 6
12 8 sRkoh= 5 10 4
12 9 BoR e A2 5 10 6
12 10 RIER 5 10 21
12 11 & B i 5 12 7
12 12 BEE 5 13 2
12 13 SET 5 13 8
12 14 BR1& S 5 20 6
12 15 EER 5 20 16
12 16 IR X 1 29
12 17 =R X 8 28
12 18 REAE X 8 30
12 19 HIME % 9 11
12 20 RARZR 74 9 20
12 21 ERRES X 11 22
12 22 SBEILIS X 11 30
12 23 HFEE X 12 26
12 24 ZF5EH X 13 9
12 25 LIRE X 15 21
12 26 PR L RE X 16 25
12 27 BR 51 3= X 16 34
12 28 RN 74 17 20
12 29 e X 20 18
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[BO401i518E ] 1028 FEMERIBRER (F138/H 17 8)

#mYT 5% BENZ gzl iR P 3T S
13 1 =E21E 5 1 12
13 2 LIBREAY 5 2 32
13 3 B g3 5 4 10
13 4 RIEM 5 4 16
13 5 (GIE=3-5 5 6 8
13 6 TR 5 6 11
13 7 A5 F 5 7 2
13 8 BRI BE 5 9 5
13 9 EIgEdin 5 11 1
13 10 PREE 5 12 15
13 11 MERE 5 12 16
13 12 EGEES) 5 13 36
13 13 ERHTF 5 15 8
13 14 EIRIR 5 15 34
13 15 EE2 5 20 27
13 16 sRAREE % 1 19
13 17 ERTE= X 4 24
13 18 ER RS X 5 19
13 19 ZFFE % 10 11
13 20 sRIZRE % 10 14
13 21 sRIMAS 4 10 38
13 22 Y% & 38 % 11 14
13 23 fRELF % 11 15
13 24 sRAELS Y 12 37
13 25 2Rz X 13 12
13 26 EAVES] %4 13 15
13 27 = k5 % 16 32
13 28 [E 514 74 17 23
13 29 =838 4 20 21
13 30 BIEY 74 20 30
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[BO401#518EIH ] 1028 FEMERmIME  (F1SH/H 17T H)
3t 5 B BRI ERRSHE S

15 1 kB 5 1 5
15 2 T & 5 1 15
15 3 BR18S) 5 3 4
15 4 SR 5 3 9
15 5 B2 5 3 31
15 6 REKE 5 4 33
15 7 £ 5 6 18
15 8 #LRR 5 7 4
15 9 ZZyE 5 7 14
15 10 HIE= 5 11 32
15 11 REZ 5 12 24
15 12 HEZ 5 13 23
15 13 B ApEl 5 15 4
15 14 HEER 5 16 4
15 15 B3 5 20 24
15 16 Rom sk % 1 21
15 17 EEIkd X 3 21
15 18 & 1 X 3 30
15 19 RE= X 5 26
15 20 SWRZE 74 5 30
15 21 HEE X 8 24
15 22 EIR % X 11 24
15 23 BRIE % 11 26
15 24 SBEF Y 13 27
15 25 2 Fx 4 14 27
15 26 =EE %4 14 28
15 27 SHEF % 16 10
15 28 = 1EfR 74 17 11
15 29 Sh= 4 20 7
15 30 R 74 20 31
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[BO401#51EEF ] 102%&?%% mtiEk (EB16 8B /H 17 H)

gzl bR 3 S

16 1 Iﬁﬁ%% 5 3 2
16 2 g5 5 4 11
16 3 F 187 5 4 14
16 4 BREF 5 5 12
16 5 5k 5h 5 6 2
16 6 TR 5 6 16
16 7 R RE 5 6 20
16 8 S 5 10 37
16 9 EATF 5 12 20
16 10 MZEL 5 13 34
16 11 = H 5 14 24
16 12 RER 5 15 3
16 13 2t 5 16 19
16 14 Sk Bl 5 17 13
16 15 =A% % 2 34
16 16 AT EFR % 4 29
16 17 ZR I 3 % 5 24
16 18 fRIANE X 7 25
16 19 PR=5E % 8 20
16 20 2 Er % 8 27
16 21 E5E 4 9 12
16 22 BT Rz % 9 18
16 23 MER % 10 27
16 24 2T X 10 30
16 25 BES 4 11 25
16 26 MAIg %4 13 13
16 27 FRZ=fY % 13 28
16 28 TEE 74 14 20
16 29 B IFN 4 15 35
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[BO401#518EIH ] 1028 FEMERmIME (F17BH/H 17T H)
3t 5 B BRI ERRSHE S

17 1 EEE 5 2 7
17 2 SRE 5 5 6
17 3 St 5 5 32
17 4 o2 2R 5 6 5
17 5 IS 5 9 4
17 6 BRISE 5 9 9
17 7 B 1&sl 55 10 35
17 8 fREE 5 11 6
17 9 RE F) 5 11 10
17 10 = 5 13 4
17 11 BIRE 5 13 5
17 12 MEZ 5 13 24
17 13 REEIR = 5 14 5
17 14 KRFE 5 16 8
17 15 TRE 5 17 7
17 16 25 X 7 21
17 17 MARZH X 7 26
17 18 BRun X 8 26
17 19 =RE % 10 39
17 20 =E= % 11 16
17 21 AV X 11 18
17 22 B akIE X 11 21
17 23 a1 ik 3 X 12 34
17 24 = EE Y 13 14
17 25 FHE X 13 17
17 26 =iy %4 15 22
17 27 5= E % 16 24
17 28 MRS 74 16 27
17 29 A TR 4 17 28
17 30 PR R A 74 20 33

KR E RS ERBE P/ \EREREITHEESEETREAS

ARYTSTAASRS - 2013/7/30 £4F 09:06:19




